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(c) Define indirect tax.
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(d) What is revenue budget ?
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(e) Define Unemployment.
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(f) State one cause of inflation in India.
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(g9 What does PPP stand for in
economics ?
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The figures in the margin indicate
full marks for the questions.

1. Answer the following questions : 1XI=T7
Oe 2PEPTRE ©ed Al ¢
(@) What is population parameter ?
(% e 52
(p) Fill in the blanks :
AT 3R =74 71 ¢

YA A is a  systematic
arrangement of statistical data in
columns and rows.
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2. Answer the following questions : 2x4=8
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(a) Define Secondary data. Mention two
published sources of secondary data.
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() Mention two causes of income
inequality in India.
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(c) Distinguish between economic growth
and economic development.
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(d) Define Goods and Service Tax (GST).
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Answer the following questions : 5x3=15
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(a) Distinguish between Census and
sample survey methods.
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(b) Discuss the key features of India’s
economy as a developing country.
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(c) Explain the Human Development
Index and its various dimensions.
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(d) Discus various methods of collecting
primary data.
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(c) Discuss the principal steps involved in

Or

(e) Explain the Various objectives of
Public Budget in India.
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Answer the following questions : 10x3=30
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(@) Define Public Budget. Explain the
various components of Public Budget.
2+8=10
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(b)) What are the major causes of
unemployment in India? Suggest
policy measures to address this issue.
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sonducting 2 ssmple suvey. (f) Presents the following data in a
histogram and'also draw the frequency
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(d) Define sustainable development. Marks | Frequency
Discuss its importance and the 0-10 2
measures that can be taken to 10-20 5
achieve it. 2+4+4=10 20-30 8
30-40 11
TR BEEes TR il | R e Rl TAT 40 -50 10
(@R SRR IR AR e 41| 50 - 60 9
60-70 4
(e) Discuss the various methods of 70-80 1
Probability and Non-Probability
Sampling. 10
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